SG 6840 ©

PRODUCT INFORMATION / &S5k

- #EEK: FEIEERME

- BUWEEEE: M(3T47L) — L(5—2)

- FEEE: XA, FEE (AV-~I1yIRER)

- h5—: 2= RD(b

- T YA NMURTFTUSIAL T332 % CSHRIZEN BBEIRNS
OZHEMBBRIFVLET

Features / %5

- 2CU 545 —%¥%A

- Waveh—7>3 X7 LIS

- h=JMI/7—FhIh'=I4E

- N=F UMY IZORVZFPREEIELTHEATES
- 22 aRTH1>

M~ . .
06/2025/V1 _‘é SilentGliss



SYSTEM SPECIFICATIONS / A7 LMft#k

A. PROFILE / L=l F#T

L—ILEA—TIT O j
154k

AEIOEDEHRFTER

ROEZR(CTHIEUE

. Q0E%BZZN—T —
ATICOVTIE50cmh
BERDFET ., FEHAEY

HABmLanegza VTV
AR FEE:
v 20cm, >30 cm

SG 3841

B. HOW TO . A . AT REE
avw 'Y B: #fmEd
MEASURE / ‘ ‘ C: h—-T BN BRETOES
BIESSE

BN\

F []
B
CL
7
— A" ﬁ" =+
FITTING / si=#EP
A. FITTING SEAREREIBIRICOVT(E. HHABBEVWEDEE
INFORMATION /  S\%
SREEHIEER
j‘ag\yhﬁo)mlﬁ 100 .- max. 500 .- max. 500 . 100

[ | |

BATTERDZER. I3y MafR(Emax. .
00mmd
ARIDAIE CHUTF TZE0

SG 6840 %SilentGliss



B. CEILING
FITTING /
XHEE

93>7 - SG 3825

T35yb - SG 3832

C. WALL FITTING /
IFEEERE

AN—=NI19IR
(/EhER)

\Cy )
<7
min. 60 min. 120

r@;ﬂ

CERRRICEDEERSEREE)

SG 3825
957

_ min.60 |

min. 120

SG 3832
J345vh

7

AX—RJ4wI2tyh SG 11200 - SG 11204 & 7

SG 11201 / SG 11211
- X SG 11202 / SG 11212

35wk SG 3832: SG 11204 / SG 11214

WEEBm INILIRT SG 10492 (M4x8)

7

B

7

AI)IPAI—RI19) Aty SG 11210 -
SG 11214 & I35y SG 3832:
BB INILMRS SG 10492 (M4x8)

Smart Fix / AX—K7499 X mm X mm
A (SG 3825) (SG 3832)
SG 11200/ SG 11210 52 70

72 90

92 110
SG 11203 /SG 11213 112 130

142 160
SG 11156 182-210 200-228

SG 6840

%SilentGliss



SG 6840

J

X

T

A\

I1=Z)C-HVAR—bI49IR SG 11156 & T359h

SG 3832:

WEEBE NILMRT SG 10407 (M4x10)

X

AX—NIJ19IAtyb SG 11200 - SG 11204 & 7

5>7 SG 3825:

WHEERG NILMRS SG 10074 (M4x8)

N\

i

7

ADITAI—RI19IZAyh SG 11210 -
SG 11214 & 9527 SG 3825:
WEEBT INILIRT SG 10074 (M4x8)

SG 3825:

x

I=)N-HIVAR—bI19IR SG 11156 & 75>F

WEES RILNES SG 11158 (M4x12)

A 20 » <
4
SG 3825 SG 3832 SG 10074 SG 10407
327 AN +9IMILRRT M4x8 +FRIRILRRT M4x10
N > o
\\\\\\ \\\\\\\ 60 & 80 $
o4 S N
16{ 62 A > 62
X’ o N’
SG 10492 SG 11158 SG 11200 SG 11201

+FNRIVBRS M4x8

BIRIVMRS M4x12

%SilentGliss

AX—=NJ4wI2yh 60 mm

AN—=NI1wHIZALyh 80 mm



/\ /\ N 607
<2 AN s S8y
a S I 62 / 62 </ 62 *16/4 29
o ¥ oo ~y S ~y
SG 11202 SG 11203 SG 11204 SG 11210

AN—=NJ1wIXtyh 100

AN—=NIJ1wIRYh 120

AN—=NJ1wI Ry 150
mm

ADIT AN =TI Aty b
60 mm

80", o™ o T
L 29 £ 23 N BT
A16/29 V29 <29 29

A
16
< o %
SG 11211 SG 11212 SG 11213 SG 11214

ADIT AR —RIT1wI X2y b
80 mm

200 \A
62
/ ™
\Aﬂ

NS
SG 11156
IZN=HIAI—RIT(vIR
vk 200 mm

o

SG 11295 SG 11302

ADIFP AR —RI4vI Xty b
100 mm

%SilentGliss

ADIT AR —RIT1wI X2y b
120 mm

SYSTEM OPTIONS / 327 LATZA>

A. WAVE /
WAVE h—7>

AJIFP AR —RI(wIx 2y b
150 mm

Standard components / E#ERERRED G

- SG 11295 IV RANT

- SG 11302 Wave 2C 5445 — 80

SG 6840



A Optional components / AT>AERER TR
W W (452 >30 cm):
! - SG 2256 JL—=*

SG2256  SG6364  SG6365 - SG 6364 WaveIHZT>3a>

'\ - SG 6365 Wave/\>H—
/ % - SG 6366 Wave/th>FvU7
- SG 10432, 10434 k>

SG 6366 $G10432,34 SG 11303 - SG 11303 Wave 2C 7315— 60

(

[ Curtain components / H—TABRNERG
B - SG 3582 Jv7

@ 9999 - SG 6349 Wave 7—F

SG 3582 SG 6349

Wave stack / fefzdHY - Wave 2C J544— (IZHEAERHERG)

7 Z A = Stack depth / BITDffedH%
%/ // B = Stack size / TRDfZfz M
T ] C = Min. distance / B2/\EIBR
| B
. e
Z

-t L d A L
C 2xC
Wave 2C #5414 TVIORT N—T>DEH BITOREHMK TBORHMY /) \E bR
— 80/ &% v NEIFR A B* C
80/175 6 21 140 ”‘;?;Ob?n‘” 90
80/2.0 7 ~23 160 ”‘;?;OI‘/?T]‘” 100
Wave 2C /544 TVIORT N—T>DEH BITOREHMY TBORHY /) \bR
— 60 / &= AN A B* C
60/17 4 ~2.1 100 73;’2('; /an‘;” 70
60/2.0 5 23 120 h7xbavs 80

*AT23VDIIAT>33VSG 6364%FEAU
BEDOAIYITFAXB(E. H—F>TEC150 mmighiL
353-0

SG 6840 %Silentcliss



PARTS / &bam

A. STANDARD PARTS / &E#&bm B. OPTIONAL PARTS / A>3 8k
SG 3832 SG 2256 SG 10432
J34vh JL—+ JXR> 100 cm
SG 3841 SG 3582 SG 10434
L= J95 JXR> 150 cm
SG 3842 . SG3825 SG 10492
I>RHNA— / 9557 +FRRILNRS M4x8
SG 6065 SG 5115 SG 11156
USRI RANT SN/ IRI2A TS 1= ZR— NI4vIAtYR
200 mm
SG 11300 SG 6085 SG 11158
2C 5545— e S SR NES Max12

SG 6086 é\ SG 11200
AT AT = AX—NJ19H2yk 60 mn
~l

SG 6098 m  SG 11201

BRS>F- 4 AR —=RI4992yh 80 m
SG 6283 SG 11202

Z1-5F- . AR —=RI49HZyh 100 m
SG 6349 SG 11203

Wave -7 % A3—hI4vI2EYh 120 m
SG 6364 SG 11204

Wave I927>33> % AR —NI4yH 2ty 150 mn

SG 6365 P‘“ 5G 11210

Wave \>fi— ’\ AIIFA—hNI199 Ay h 60
g I mm

SG 6366 SG 11211

ADIT AR —bIJ4wIRZvh 80
mm

Wave I\k>Fv1)7

S

SG 10074
+YIRILPRS M4x8

5G 11212

AIIFAR—hI1vIAzyh 100
mm

SG 10407
+FNRIVBRS M4x10

SG 11213

ADIT AR —NI4wIRyh 120
mm

(.
W
LY

ML
7 ~“& SilentGliss SG 6840



SG 11214

ADIPAR—bT4vI Aty b 150
mm

SG 11295

IORAMNS

SG 11302

Wave 2C 7544 — 80 mm

AL

SG 11303

Wave 2C 75449 — 60 mm

SG 6840

%SilentGliss



	SG 6840
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 Profile / レール 
	レールとカーブ加工の情報
	SG 3841


	 How To Measure / 測定方法 

	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	クランプ - SG 3825
	SG 3825

	ブラケット - SG 3832
	SG 3832


	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 3825
	SG 3832
	SG 10074
	SG 10407
	SG 10492
	SG 11158
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156



	 System Options / システムオプション 
	 Wave / WAVE カーテン 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 



